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SK 1. -

A =


5 4 3 2 1

4 8 6 4 2

3 6 9 6 3

2 4 6 8 4

1 2 3 4 5

 , F =


2 3 2 1

3 6 4 2

4 8 6 3

2 4 3 2

 ,

¦A−1ÚF−1 (�e¦)L§).

SK 2. �A´���"�
, =, �3n ∈ N¦�An = 0 . ¯: E ±A´Ä�_? e�_, ¦_.

SK 3. �A´���
. eAT = A , K¡Aé¡Ý
; eAT = −A , K¡A�é¡Ý
. y²:

(1) eA�_�é¡, KA−1½é¡;
(2) eA�_��é¡, KA−1½�é¡.

SK 4. (1) �y

A =

(
a b

c d

)
, ad− bc 6= 0 ⇒ A−1 = 1

ad−bc

(
d −b
−c a

)
.

(2) XJ ad− bc = 0 , A−1�3í? y²�.

SK 5. (1) y²?¿ 2��


A =

(
a b

c d

)
÷v'Xª

A2 = (a+ d)A− (ad− bc)E. (♥)

(2) XJ ad− bc 6= 0 , Á$^'X(♥)¦A−1 .
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